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1. The x7n discusses the difference between the case in the 7w, where 2 strangers married 2 sisters and
died childless and we don’t know which sister was married to which husband, and the case of 2 out of 4
brothers who married 2 sisters. The X3 answers that when we don’t know which n2° belongs to which
02, if each does o12° they may end up with the correct »2. If we are trying to prevent a oon2> mixn 703,
isn’t this case exactly the same as the case of 2°nx 7v27R, if one marries the wrong sister than he not only
lost his own 012> mixn, but also caused the other sister to lose out. On the other hand if they each do 7%°%n,
we insure that everyone at least had a 7%°%n n1xn?

2. The mwn says that the mx» of 212° is on the 7102, What would happen if the 7122 is only willing to do
7¥>om but his younger brother is ready to do o12°? Is it still preferable to have the 1102 do x5, or do we let
the younger brother do o12° since that is the mgn pv?

3. The &3 learns from 720 "Wk that a n°115°% doesn’t have a 012> Mxn, and from W ann° X9 that a 010
doesn’t do 212°. Why can’t we learn 0>70 from 7%n 2wx, which tells us that the main objective of o127 is to
have a namesake for the deceased brother?

4. "1 anown Sy it the Xnx asks in case of a v, how can anyone marry her, isn’t it a conversion for
marriage only. Since the one who she is interested in can not marry her, doesn’t that confirm that her

intention is genuine?

5. The Gemara says that Xnnynaw "X 9K 27 200w 0°°1 %2, is this meant to discount what he said, or is it a
compliment?

If you have any comments or suggestions please email me at Ygrunhaus@gmail.com
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